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Response Curves of Electromagnetic Seismograph (1)
T. Utsu ‘
. (Seismological Section, J. M. A.)

" Tables for the calculation of the magnification and phase angle of electromagnetic

sseismograph (Galitzin type) are prepared. An example of response curves is shown in Fig. 4.
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SEBl Ti=1, T; =10, hi=5, h; = 0.5, VS:IO,OOO DEBLbED B, BRE E e bR
Ry (FIE) BHRAET THDETBE hal/hi= halhs =1, ¥, MESCANT PP =2.5k75k, (46),
() Hbd ¢ =C=0.4 Ligsd. FHFOMRL Tab. 3 DEBV T, ThERICHE & Fig. 4 Ok 3127
5. :@Ebﬁﬁﬁaﬁb:ﬂ@ij@ﬁiﬁ T, Hedhz %@Hﬁﬁkﬁféiﬁiﬂii v, BLAED Th 6 2#&9, T, VIR
E%’Sj&:of%é X BICHIENE Vo, 60, DE Y, couplmg DRGEE E%’z?‘;b & E ORISR, MEOTRT
C B REREANT coupling DBER/EL LTWIIE, BY AR COBBISEST 5 ENTES.

ks, BET V, 6 &kd5IE, Ve Ok, Fig 4 (B Ok 55pEE (T=T, V="V, DAL
HWHRMRE IS| =C OBITEB) B & o THDIE, DL S| Ofiss, %7, 6 Oz Fig. 4 (F) @
AfE f&@;m_, 90° ﬂ’%%f@t&b I, TDEE pakDdSRBMG, Fig. 5 0L 3518, BEFE L SO
WEE L0, S EE 1 z‘r%*»;«y PADES &, AT E OB OMERRE, Zhas [1-8), arg(1-8)
iy, ;@Lkiof Vo, do BWETHIZI V.

10000

' : v \
Table 3 ‘Magnification and phase angle for \\ :
) T:=1, T; =10, o . ) ' R N \\ : 10
. hi=>5, Jlj:O.S, ) 1000 — \,__/_:‘\ BN
; Vs = 10,000, o®=10.4 .  ~ N
- = = . v V1
log T'{ loglVs Vo G0 | logV 14 0 Y
- " ‘,, - l(x) A . N\
—~0.912.894 | 788 —37°18"| 2.8954! 786 —37°29 h ’ N
"—0.812.9304.| 852 —30 41 2.9292! 849 —-30 57
—-0.7 | 2.9549 901. —24 33 { 2.9536 899 —24 55 b s No.1
—-0.6 | 2.9718 937 —19 01-| 2.9705| 934 —-19 32 ’ . : ’ . .
—-0.5] 2.9833 962 —14 04 | -2.9820| 959 ~14 45 : . . _
~0.4]2.9908 | 979 |-0939 | 2.9804 976 |-1032 10 '
-0.3 | 2.9957 990 —05 37| 2.9948| 988" —06 45
—-0.2 }2.9981 996 . |—01 49 2.9976] 994 . [—03 15
—=0.113.0009 | 1002 01 54 3.0011{1003 00 05
- 0.0 3_.0022 1005 05 46 3.0036(1008 - 03 28
0.1 3.0029 | 1007 09 57 3.0062(1014 = | - 07 04
0.2 | 3.0034 | 1008 | 14 41 3.0096(1022 11 11
0.3 | 3.0037.|. 1009 <20 14 3.0147|1034 15 47 .
0.4 | 3.0037 | 1009 26 57 | 3.0222[1052 21 32
. 0.5 3.0036 | 1008 35 15 3:0340(1081 29 51
0.6 | 3.0028 |.1006 45 46 3.0523/1128 38 34
~0.7 | 3.0000 | 1000 59 30 3.0753/1189 51 53
0.81]2.9898 | 977 78 57 3.1093{1286 - 75 23
0.9 (2.9340 | 859 103 06 3.0740/1186 108 14 -
1.0 2.8517 711 . 134 43 2.93_74 866 148 49
1.1 2.6531 450 | 166 17 2.6656; 463 179 23
1.2 12,3880 | 244 191-18 | 2.3703} 235 1199 41
1.3 1 2.0974 125 .| 209 31 2.0751} 119 214 15 .
1.411.7998 | - 63.1 | 222 57 1.7810; 60.4 | 225 31
1.5} 1.5002 31.6 | 233 04 1.4864) 30.6 234 24'
1.6 1.2002 15.9 | 240 42 1.1907| 15.5 241 24
1.7 | 0.9002 7.95| 246 39 0.8939r 7.83 ! 247 20
1.8 | 0.6001 3.98 251 45 0.5960, 3.94 | 251 56
1.9 0.3001 | . 2.00 255 32 0.2974 1.98 | 255 37
2.0 | 0.0001 1.00; 258 31 [—0.0016 0 996| 258 34
90

Fig. 4
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